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RELAÇÃO DO AÇO

Planta (150.0) Positivos (0.0) Positivos (300.0)

AÇO N DIAM
QUANT

UNIT C.TOTAL

(mm) (Barras) (cm) (cm)

CA60 1 5.0 120 102 12240

2 5.0 9 214 1926

3 5.0 3 131 393

4 5.0 6 91 546

5 5.0 8 234 1872

6 5.0 3 151 453

7 5.0 8 173 1384

CA50 8 6.3 120 259 31080

9 6.3 120 739 88680

10 6.3 80 239 19120

11 6.3 60 188 11280

12 6.3 120 213 25560

13 6.3 60 175 10500

14 6.3 120 173 20760

15 6.3 60 148 8880

16 6.3 32 234 7488

17 6.3 3 150 450

18 6.3 6 90 540

19 6.3 8 714 5712

20 6.3 3 630 1890

21 6.3 8 167 1336

22 8.0 8 294 2352

23 8.0 12 714 8568

24 12.5 16 309 4944

25 12.5 53 234 12402

RESUMO DO AÇO

AÇO DIAM C.TOTAL PESO+10%

(mm) (m) (kg)

CA50 6.3 2332.3 628.8

8.0 109.2 47.5

12.5 173.5 183.9

CA60 5.0 188.7 32.0

PESO TOTAL

(kg)

CA50 860.2

CA60 32.0

 (C-30) = 19.12 m³

Área de forma = 169.02 m²
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